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AN m it hiE 8
x* 2 =2 & H a4 X 8% (1) ISTE] Z1{B
NP> 110 ~ 150 1,450 7,000 6,200
O—yvY2og)/)\ 50 1,647
= 1,500
/N i) hiE 8
* = =2 & v 4 X S FeE() =iE Z1{B
<H/( 600 12,000 4,000
N7 35 ~ 135 1,250 13,000 3,300
ey AN 80 6,000
NATZ 100 1,800 1,300
ZIRUD 1,550 1,930 878
BYATZRUD 250 796
O—yv2o8)URUD 300 1,667
HIOFADROD 400 769
INTILAAL DR D 100 1,020
= 4,630
plis iz 7
x =2 =2 & H a4 X 8% =18 FAK Z1{B
YUAH 2.0E% 450 | 9,500 5,500 4,500
2.5E% 5,800 4,500 3,000
3.0E% 5,000 3,500 2,500
3.5k% 3,500 ~ 2,500
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